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QUESTION 1

-- Exhibit -

-- Exhibit -Click the Exhibit button. 

In the exhibit, what is the correct command to configure a default route on the SSG 20? 

A. set route 0.0.0.0/0 vrouter untrust 

B. set route 0.0.0.0/0 interface e0/4 gateway 143.45.56.254 

C. set route 0.0.0.0/0 interface e0/4 next-hop 143.45.56.254 

D. set route 0.0.0.0/0 interface 143.45.56.1 gate 143.45.56.254 

Correct Answer: B 

 

QUESTION 2

Which statement about hashing algorithms is correct? 

A. They are used to provide data source origin authentication. 

B. The output they generate varies based on the size of the input data. 

C. They can be used instead of encryption algorithms for IPSec-based VPN networks. 
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D. The output they generate is reversible provided that the same key is used at both end devices. 

Correct Answer: A 

 

QUESTION 3

What are three components of a tunnel interface configuration? (Choose three.) 

A. zone 

B. virtual router 

C. subnet mask 

D. IP addressing 

E. virtual system 

Correct Answer: ACD 

 

QUESTION 4

-- Exhibit -

-- Exhibit -Click the Exhibit button. 

In this route-based VPN configuration, where are the two policies going to be required? (Choose two.) 

A. SSG 5 - trust to untrust 

B. SSG 5 - untrust to trust 

C. SSG 550 - trust to untrust 

D. SSG 550 - untrust to trust 

Correct Answer: CD 

 

QUESTION 5
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When a firewall receives the first packet in a series, what will it immediately do? 

A. Check its route table. 

B. Check its session table. 

C. Determine if traffic is crossing zones. 

D. Verify that it is not malformed or a fragment. 

Correct Answer: D 
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